scratch/run18148035.12btowW. hist.root, page=1, Sun May 28 13:29:55 2017

| L2 COMPUTE time per input event | Entries 3547100 rate of COMPUTE Entries 3547100 | total events. O=anylnput 10=anyAccept 11=normalAccept 12=rmdAccept Entries 7183345
x10 Mean 7.019 —_ Mean 7549 Mean 1.051
F . . . . . N . . . o
2 o : RMS 8582 z [ RMS 410.9 0.8054
S F L
00 -- -~ {undertow 0 2800 ? “{underfow 0 0
> O Overflow 1922 s F Overflow 0 0
600 3 . T
H 2000 H R L K1 v a RREEEEE SRR
500 X :
: 1500 - fo SR
400 r .
300¢ 1000 - -tre e+ meefonnebena e dene g ke e
200 [+ - :
E100] 5 i A R A A
100 i L
. Ll i . T
0 50 100 120 140 160 T80 0 01200 1400 7600 1800 2000 16 18
x: COMPUTE time (CPU kTics) X: time in this run (seconds) 6=staleData
[ L2 DECISION time per input event T W Btow delTime (decision-compute) | [envies 10174 [ w Btow-compute: Entries 3547100
Mean 2473 Mean 22.66 Mean 9.443
2 : : : RMS 2311 I : : : : : RMS 13.95 g E RMS 7.075
s [ : : ’ 1200 [ -f---mecoeee R 3
2 H » |underfiow 0 [ : : : : t[underfiow 0 30 S i "~ |underfiow 0
25600 1 : ol
r : t[overflow 130 : : : : + | overflow 5 F Overflow 0
[ : : T 1000 [~ 1 prreeees R AR AR i 3
F : : : : : FO R e R PETET TETP PPy N
20000 [ T FER : : : :
+ . . 800 : A F :
[ : : si |
15000 H 10°F .
[ : 600 F .
E : [ 102 e medene st Feesilg s
10000 y : 200 ; :
5000 |- R SRTEEE 10F pre
I [P T TP I o I I TR I 1 adasvsbieeehermdns
0 5 20 25 30 35 0 50 100 150 200 250 300 0 20 30 40 80 90 100
x: DECISION time (CPU kTics) kTicks x: # BTOW towers
| L2 COMP+DECI time per inpu[ event | Entries 61702 rate of ACCEPT Entries 13652 W-BTOW-accepted: acc seed tower ET>5.00 GeV Entries 13174
Mean 11.61 - Mean 755.9 _ Mean 2376
[ N F T . T T T T
7‘§00 :_ RMS 10.95 %20 - . - R B R - {rRMs 4114 25 [ Jrms 1388
2 F Underflow 0 %18 +|underiow 0 3 Underflow 0
55{)0 - . | overfiow 64 SO Overflow 0 o Overflow 0
r 16 r
E L] SERENEE EEEERRE RN S EER SRR R R EE RRE R R
5000 14 [
[ 12 L
4000 5Em
F 10 L
3000 H )
F 100
PJ000] & T ETTEPEEPPPE-EPRTS CPPPL PREPE-PEPE-EPPETEPETE IR 3 (1110 [ UG/ H . DA R | ) -
1000
ol [ I T T A B 2 I PO T IV T
0 20 40 60 80 100 120 140 160 180 0 200 400 600 800 1000 1200 1400 1600 1800 20 500 1000 1500 2000 2500 3000 3500 4000 4500 50

x: COMP+DECIS time (CPU kTics) x: time in this run (seconds) BTOW softiD



scratch/run18148035.12btowW. hist.root, page=2, Sun May 28 13:29:55 2017

W Btow-accepted: seeds | enies 137 | | W Btow-accepted: clusters | Envies 13174

_________________________________________________________ Mean 11.69 Mean 15.02

RMS 4.263 3.985

103 Integral 1.317e+04 | : H . Integral 1.317e+04

_______________________ 10° =

..........................................................

102
102

10E
E 10

1 E Y 5 riyiyigs i =HHHEE E B [ - 3oq-
0 10 20 30 40 50 60 70 0 10 20 30 40 50 60 70
Seed ET (GeV) Cluster ET ET(GeV)
W Btow-accepted: cluster shape |
Entries 13174
L.....| Mean 743 A .
103 | RMS 18.83

‘| Integral 1.317e+04 |*:

102

10

0 20 40 60 80 100

Sun May 28 13:29:55 2017 1007Seed BrCluster &



scratch/run18148035.12btowW . hist.root, page=3, Sun May 28 13:29:55 2017

W Btow accepted, seed tower Et>5.00 GeV

Entries 13174

f

!

My

A1

u I

11

I
I II Illllh
II!

y: phi bin ~ TGP sector.
]
Ll
J
i
I

1R

LA RS

|

|

II:
I Id

¥

|hl

=
=k
|
=

11
I\J1Il

=1

ﬁu

,:-'l
IIII.

T

30

§

|

35 40
eta bin [-1,+1]



scratch/run18148035.12btowW . hist.root, page=4, Sun May 28 13:29:55 2017

| W-BTOW-accepted: acc seed tower ET>5.00 GeV |

” I o L L L |ntegral 576

20 40 60 80 100 120 140 160 180 200
BTOW softiD

| W-BTOW-accepted: acc seed tower ET>5.00 GeV |

TET T CTT T T |ntegral 595

220 240 260 280 300 320 340 360 380 400
BTOW softiD

® """"""" """"""" """""""" """"""" """" |ntegl’a| 631

600
BTOW softiD

BT Integral - 471

0 620 640 660 680 700 720 740 760 780 800
BTOW softiD



scratch/run18148035.12btowW . hist.root, page=5, Sun May 28 13:29:55 2017

[ W-BTOW-accepted: acc seed tower ET>5.00 GeV__|

Integral

514

820 840 860 880 900 920 940 960 980 1000
BTOW softiD

Integral

487

1020 1040 1060 1080 1100 1120 1140 1160 1180 1200
BTOW softiD

Integral

505

0 1220 1240 1260 1280 1300 1320 1340 1360 1380 1400
BTOW softiD

Integral

598

0 1420 1440 1460 1480 1500 1520 1540 1560 1580 1600
BTOW softiD




scratch/run18148035.12btowW . hist.root, page=6, Sun May 28 13:29:55 2017

| W-BTOW-accepted: acc seed tower ET>5.00 GeV |

Integral

674

1620 1640 1660 1680 1700 1720 1740 1760 1780 1800
BTOW softiD

Integral

654

1820 1840 1860 1880 1900 1920 1940 1960 1980 2000
BTOW softiD

Integral

566

BTOW softiD

Integral

552

0 2220 2240 2260 2280 2300 2320 2340 2360 2380 2400
BTOW softiD




scratch/run18148035.12btowW . hist.root, page=7, Sun May 28 13:29:55 2017

[ W-BTOW-accepted: acc seed tower ET>5.00 GeV__|

” I o L L L |ntegral 469

2420 2440 2460 2480 2500 2520 2540 2560 2580 2600
BTOW softiD

TET T CTT T T |ntegral 465

2620 2640 2660 2680 2700 2720 2740 2760 2780 2800
BTOW softiD

""""""" """"""" """""""" """"""" """" |ntegl’a| 586

BTOW softiD

T o A A T Integral 557

3020 3040 3060 3080 3100 3120 3140 3160 3180 3200
BTOW softiD



scratch/run18148035.12btowW . hist.root, page=8, Sun May 28 13:29:55 2017

[ W-BTOW-accepted: acc seed tower ET>5.00 GeV__|

Integral

513

3220 3240 3260 3280 3300 3320 3340 3360 3380 3400
BTOW softiD

Integral

574

3420 3440 3460 3480 3500 3520 3540 3560 3580 3600
BTOW softiD

Integral

518

3620 3640 3660 3680 3700 3720 3740 3760 3780 3800
BTOW softiD

Integral

528

3820 3840 3860 3880 3900 3920 3940 3960 3980 4000
BTOW softiD




scratch/run18148035.12btowW. hist.root, page=9,

Sun May 28 13:29:55 2017

[ W-BTOW-accepted: acc seed tower ET>5.00 GeV__|

Integral

449

4200
BTOW softiD

Integral

518

4400

BTOW softiD

Integral

612

BTOW softiD

Sun May 28 13:29:55 2017

4660

4680

4700

4720

Integral

562

4740 4760 4780

4800
BTOW softiD




scratch/run18148035.12btowW . hist.root, page=5, Sun May 28 13:29:55 2017

| W Btow-accept: cluster 0 <ET< 10 GeV | Entries 0 | W Btow-accept: cluster 10 <ET< 15 GeV | Entries 9001 | W Btow-accept: cluster 15 <ET< 20 GeV | Enties 3134
420 2203
° ° °
(9] (7] Q
12 " n
oo & 300
[ =t [t
1 1 1
£ £ £
80 280 280
< = =
o o o
° o o
(7 (7 [

Q Q Q
960 9260 “60

40

20

0 T FEEEE PR SRR FEET FEETE PR T S

20 25 30 0 5 40 Q" 5 0
seed eta bin [-1,+1] seed eta bin [-1,+1] seed eta bin [-1,+1]
| W Btow-accept: cluster 20 <ET< 25 GeV | Entries 665 | W Btow-accept: cluster 25 <ET< 30 GeV | Entries 204 | W Btow-accept: cluster 30 <ET< 35 GeV | Entries 85
420 5 420 320
g g 8
3 4.5 3 [ b 1.8
00 00 5 00
8 By & o
1 ] - ]
c s =
8o 35 280~ 280 4
& | F =
° 3 o r - =
(7] (7] - (7]
O (7] (7]
960 2.5 960 == 5 “60 1
2 [ 8
40 15 40 - 40 6
20 L 20 5 20 4
0.5 [ 2
0O 0 050 15 20 25 30 35 40 %
seed eta bin [-1,+1]
| W Btow-accept: cluster 35 <ET< 40 GeV | Enties 41 | W Btow-accept: cluster 40 <ET< 45 GeV | Entiies 18 | W Btow-accept: cluster 45 <ET< 999 GeV | Entries 26
&20 14 éZO T 520 1
30 i : g
s s s 1 8 @ 9
&oo Gool 100
= = F .6 = .8
1 3 [ 1
£ s £
Z80 280f-- 4 280 7
= 2.5 & 2 g 6
kel o I " o ’
(9] (7] L (7]
17 [ Q
960 2 “60 - “60 .5
1.5 [ 8 4
40 40 - 6 40 3
1 [
20 20 4 20 2
0.5 [ 2 1
0 % "5 10 15 20 25 30 85 40 b5 "0 15 20 25 30 35 40

% 5 10 15 20 25 30 35 40 I :
Sun May 28 1329559(2@[11?1+1] seed eta bin [-1,+1] seed eta bin [-1,+1]




